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INSTRUCTIONSTO CANDIDATES:

This paper consists of six questions.
Answer any five questions from this paper in the answer booklet provided.

Each question is 20 marks

This paper consists of 2 printed pages. Candidates should check the question paper to ascertain that both pages are printed as indicated and
that no questions are missing

© H/Bay Sub-county form four 2014 Cre2



Q

O
N .
Answer agy‘zflve guestions
Q
"
1. (a) State five waysin which the creatgu’zf%of man differs from other creations (5mks)
(b) Identify God’s plan of salvatiQI}Efter the fall of man (7mks)
(c)Give eight reasons why sosr;Qez%:hri stians are opposed to capital punishment (8mks)

2. (a) Describe the stages iolsgjved in the making of the Sinai covenant. (Exodus 24:4-8)  (7mks)
(b) Give four similarities between the Israglite worship in the wilderness and the Christian

worship today@. N (8mks)
(c) Whatis t%@}mportance of the Ten Commandments to Christian Today? (6mks)
>
Q

3. (@) Hi %@"ght seven ways through which king David brought the Israelites back to the
Lovenant way of life (7mks)
(@ 1dentify six conditions that made it difficult for Elijah to stop idolatry in Israel (6mks)
\le(c) Why isthe church in Kenya opposed to corruption? (7mks)

<
@? (a) Identify eight method used by the prophetsin the old testament to deliver their
R messages to the people. (8mks)
N (b) Explain four reasons why prophet Amos was against the way the Israglites

worshipped God (8mks)
(c) State six ways through modern Christians may invite God’s judgment upon themselves(6mks)
5. (a) Identify six reasons why Jeremiah was reluctant to accept God’s call. (6mks)

(b) How were the people of Judah dishonest according to prophet Jeremiah? (6mks)
(c) List eight actions that church members would take to handle cases of dishonesty. (8mks)

6. (a) Give eight reasons why birth rituals were performed in the Traditional African

communities (8mks)
(b) Identify six methods used to solve the problem of childlessnessin the Traditional
African community (6mks)
(c) Explain six ways through which children were made responsible members in the Traditional
African Communities (6mks)
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